National Testing Agency

Question Paper Name :

Subject Name :
Creation Date :
Duration :
Total Marks :
Display Marks:

Library and Information Science Hin 26th June
2023 Shift 2

Library and Information Science Hin
2023-06-26 18:29:26

120

400

Yes

Library and Information Science

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part A

1
920906263
0

120

No

No

0

400

No

Cant View
No

920906525
1

Online
Mandatory
21

21

100

Yes

0

1
920906853
No

null



Question Id : 92090626523 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fArAfafad Y & smuR W Uyl & IR e -

gieal ¥ 3FH 3R ufdyr theq ardl 39 ardedl 3 W itdd o9 & 79 | o)
I3t g1, FeaT SR [y o & § 6 7o oieg 89 &1 0aR A giall SR @l
ISR 1 WHR $I B UKd ol dfHd AR oI Ui & Hg Jrsdl g1 A9l HT ISR
YNUEH HaRI T Gg [dAY FA @Al ¢1 91d dP dRdiddal ®1 el UgdiH dd del
a1 @1 FHmior 781 e S, gida feam arar Gg 396 faviy &1 ISR gl &, [ 9 &
B A8l g

BRI H YHIGETE] WRBR & dle HH-YUR 1] §UI 89RI Uhsi & Y Arfcrs
Gl B SHHE BiFaR Y feaEl @1 & oF @ h wfedt @ dfd ok aiftd YR
fErami ¥ o/F Fel — 39 WH &I FHF | § 4 §19 Uhs qH @ o), @ s A odTd 31 - derd
fael $ad! U B A R FHedll By HR A7 3R, 1 Iod B 3T H Fe g! HAHd W
&1 bl 1 Sd1d &1l | dial-dran g ¢l wnfgu fdt &t safi

Sub questions

Question Number : 1 Question Id : 92090626524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S{efayr A arell dredl A o1 Y, et 3R [y el o &3 82

(1) A ufas & A (2) NS H A
(3) W UIfSd & & | | @) TPIFiFHAH
Options :

920906104801. 1
920906104802. 2
920906104803. 3
920906104804. 4

Question Number : 2 Question Id : 92090626525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & ISR 1 WIHR H3 &1 d4R T8l 62

(1) oH 2) &
(3) g (4) 44
Options :

920906104805. 1
920906104806. 2
920906104807. 3
920906104808. 4

Question Number : 3 Question Id : 92090626526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B # YA YR & 1] gU?

(1)  YHEAK] WER & 9l 2) FUY IR $ 9l
(3) SO W¥PR & dIg 4) Thgd WER H dIg
Options :

920906104809. 1
920906104810. 2
920906104811. 3
920906104812. 4

Question Number : 4 Question Id : 92090626527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weId faa dad &1 1 3 82

(1)  HAFI 9elgd &1 &1 gl (2) ATEAIUS Bl gl
) GRO THARTST IS Al (4) T TS Hal gl

Options :

920906104813. 1
920906104814. 2
920906104815. 3
920906104816. 4



Question Number : 5 Question Id : 92090626528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfdd G aren Wg fhas fady &1 RieR g2

() o€ 98 gad AT Iredi g | (2) ToFR 98 gad g1 AEar gl
(3) g 98 g 78 AT Frgar g (4) T8 371 wedm e 3|

Options :

920906104817. 1
920906104818. 2
920906104819. 3
920906104820. 4

Question Id : 92090626523 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

FAfafad Teiw & SR W Ui & IR e -

giedi ¥ 3 iR sfufay™ T arell 39 didal 3 W Wifsd o9 & 79 | o
At g1, FeaTl iR [ayr o & § 6 (oW oieg 89 @1 daR T8 giall SR @l
ISR g WeHR $3 B Uxd el dfed SHfUER & wiftg & He Orsdl g1 9 $1 RIeR
YU aRI 1 Gg [dAY FA @Al ¢1 o/d d dRdiddwal &1 Hel g dUd dal
o1 &1 Aoy 1€ frar o, gfdd Rar arer @g 39% 3Ry &1 RIeR g g, 7 98 gaa
BN Il B

B H GHISEE] TR & 91 YH-JUR aF gU| g9kl Udhe! & Yl wifes
Gl B ol e Yt feael &1 4 o it afedl 9 9 o fta e
a9 o/d Fel — 39 GH B T 4 4 619 v o d o), @ P A 9a1d 391 - agia
faell Fad! g 1 SHH W Foall HY R 2 3R, T oG B M H Sl g! AW W
W1 6l 1 Sfd1d 37| dia-dian g =81 Fifgu fadt &t sl

Sub questions

Question Number : 1 Question Id : 92090626524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfefasra Temm arell dredl A 3 He, et 3R fayra el o fad g2

(1) A wfas & AT H (2) NS S HAH
(3) UM UIfSd oH & A H 4y fPaAId A H
Options :

920906104801. 1
920906104802. 2
920906104803. 3
920906104804. 4

Question Number : 2 Question Id : 92090626525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T ISR 1 WHR 6 B 9UR Tl 22

(1) oH 2 &
(3) g (4) S4O4
Options :

920906104805. 1
920906104806. 2
920906104807. 3
920906104808. 4

Question Number : 3 Question Id : 92090626526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EMARE # HH YR & 1] gu?

(1) HHSERE! PR & €[5 (2) HEY DR & dlg
(3)  MISUI PR & dIg @4) dIPed WHR & dlg
Options :

920906104809. 1
920906104810. 2
920906104811. 3
920906104812. 4



Question Number : 4 Question Id : 92090626527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wTeId faa daa &1 1 3 &2

(1)  HAHI §gIgd &1 & g (2) AEAITS Hdl g
3) GBI AHARBeNPABIAl  (4) U Hal gl

Options :

920906104813. 1
920906104814. 2
920906104815. 3
920906104816. 4

Question Number : 5 Question Id : 92090626528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidd 3R are 9g fFae fady 1 ReR 82

(1) 52 98 Yod HYAT AR 2| (2) 58 98 gad ST Iedi ¢
(3) forg 98 Yad 71 S TrgdT | (4) g 31 wedi firer 2

Options :

920906104817. 1
920906104818. 2
920906104819. 3
920906104820. 4

Sub-Section Number : 2
Sub-Section Id : 920906854
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # @ arae @f fafgd $ifee

1y (2) ™
3 < @ U
Options :

920906104821. 1
920906104822. 2
920906104823. 3
920906104824. 4

Question Number : 6 Question Id : 92090626529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 @ arae @l Rt Fifu:

(1) @ (2)
(3 < 4 U
Options :

920906104821. 1
920906104822. 2
920906104823. 3
920906104824. 4

Question Number : 7 Question Id : 92090626530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hare H &1 | I 87

1y = (2) §H
3) ¥ 4 91
Options :

920906104825. 1
920906104826. 2
920906104827. 3
920906104828. 4



Question Number : 7 Question Id : 92090626530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty # 19 91 I §?

1y (2 ¥
@3 3 4) 91
Options :

920906104825. 1
920906104826. 2
920906104827. 3
920906104828. 4

Question Number : 8 Question Id : 92090626531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETG B! Yol &I oIl g1 W F8Tge 31 87

(1) fo (2) HRE
(3) HEl (4) oo
Options :

920906104829. 1
920906104830. 2
920906104831. 3
920906104832. 4

Question Number : 8 Question Id : 92090626531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI B! Gl Bl Il g1 T JgTg &1 82
(1 f (2) BRD
(3) Hal (4) fagmo



Options :

920906104829. 1
920906104830. 2
920906104831. 3
920906104832. 4

Question Number : 9 Question Id : 92090626532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafaa ¥ § SeR Wl # S 91 Wrsg gfew 82

(1) (2) =
(3) ddd @) A
Options :

920906104833. 1
920906104834. 2
920906104835. 3
920906104836. 4

Question Number : 9 Question Id : 92090626532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffafad & @ SHRI Usal H S a1 Wsg Yfewd 1 82

(1) O 2) A<
(3) dHd @ I
Options :

920906104833. 1
920906104834. 2
920906104835. 3
920906104836. 4

Question Number : 10 Question Id : 92090626533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefad # 9 g 91 vgaie:

(1) UP g urE are | (2) U Ul & e ansi|
(3) U frdrd ur-l &1 aredl| (4) Ul &1 UE e arsi|
Options :

920906104837. 1
920906104838. 2
920906104839. 3
920906104840. 4

Question Number : 10 Question Id : 92090626533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr=fafad @ 9 g 9/ ugaie:

(1) TP g ur=t ara| (2) U UHl &1 e anai|
(3) U frdrd urEt &1 aredl | 4) Ul &1 uE e arsii
Options :

920906104837. 1
920906104838. 2
920906104839. 3
920906104840. 4

Question Number : 11 Question Id : 92090626534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe 5tan 6=12, Al cosf—sind & HA FTd BifU|

M - Gj. 2

13

1 27

3 -— 4] —

(3) 3 (4) 20
Options :

920906104841. 1



920906104842. 2
920906104843. 3
920906104844. 4

Question Number : 11 Question Id : 92090626534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg 5tan #=12, Al cosf—sind B AF FId HifeU|

1 -1 2) —
(1) (2) &
w el gy, 2
(3) 3 4) 20
Options :

920906104841. 1
920906104842. 2
920906104843. 3
920906104844. 4

Question Number : 12 Question Id : 92090626535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofl srafe o 60% FHERI U39 & | FRTTT & UH gA1d T 40% Alemsi aul 60% JSui 4
3= & ua T die fan s ! fire diel &1 ufawrd &:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906104845. 1
920906104846. 2
920906104847. 3
920906104848. 4

Question Number : 12 Question Id : 92090626535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{4l Frafay ¥ 60% FHAR] YN €| SRTad & TP g1 H 40% Afgesii a4 60% Joui A
3] & ug H die fan| 35 &1 el 91el &1 ufaerd @:

(1) 42% (2) 50%
(3) 52% (4) 54%
Options :

920906104845. 1
920906104846. 2
920906104847. 3
920906104848. 4

Question Number : 13 Question Id : 92090626536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B ST B I I €1 a1 Has [l b1 &l 24 39 T QU1 &d €1 B bl 39 B
@ foba f&a J g v gbmm?

(1) 36 (2) 54
(3) 72 4 90
Options :

920906104849. 1
920906104850. 2
920906104851. 3
920906104852. 4

Question Number : 13 Question Id : 92090626536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A B BRIEHA B I AT &1 a1 HadR el 1 & 24 &9 § QU &d €1 B Sidhall 39 &l
@ fdbaH A | g1 6 gabmm?

(1) 36 (2) 54
(3) 72 4) 90
Options :

920906104849. 1



920906104850. 2
920906104851. 3
920906104852. 4

Question Number : 14 Question Id : 92090626537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUI B S 2:3 B U & adl 39 g 4 : 5 S U H ¢ | afg I7®! a9d HHAL:
% 9,000 94T, ¥ 17,500 €, A A BI 319 F1d Hifeid|

(1) T 12,500 (2) ¥ 25,000
(3) T 37,500 (4) T 50,000
Options :

920906104853. 1
920906104854. 2
920906104855. 3
920906104856. 4

Question Number : 14 Question Id : 92090626537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUIBHI AT 2:3H U & ayl I9d AT 4 : 5 F U § ¢ | IS I7! I9d HHA:
% 9,000 941, ¥ 17,500 €, 1 A B 319 J1d Pifeg|

(M ¥ 12,500 (2) ¥ 25,000
(3) T 37,500 (4) ¥ 50,000
Options :

920906104853. 1
920906104854. 2
920906104855. 3
920906104856. 4

Question Number : 15 Question Id : 92090626538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A A <1 axgsil & ¥ UAS B T 4,000 H o971 3R Fal DR I8 9 SIS arH gl IR A
PE g1 T U g 25% T T W1y 31 7T o g avg A9 WA g

2
(1) 20% 2) 18-%
9
9 3
(3) 16 5% (4) 151‘}
Options :

920906104857. 1
920906104858. 2
920906104859. 3
920906104860. 4

Question Number : 15 Question Id : 92090626538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAfem 3 <1 axgsil ¥ @ UAS B T 4,000 ¥ 997 3R $ [AB IY  HIS A1H g3 R A &l
FTS B T T ag 25% T F WY 3 7 o g g §9 W @1 g

2
(1) 20% (2) 18%%
2 3
(3) 16 E% (4) 151%
Options :

920906104857. 1
920906104858. 2
920906104859. 3
920906104860. 4

Question Number : 16 Question Id : 92090626539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s A3 $e U1 §, CHIRCAR @1 3214384 & ¥4 T 3R CROADS ®I 345867 & ¥4 &
Hicd &g STd1 81 39 U1 H HARTROADS &1 e & &4 o fed favar sramm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906104861. 1
920906104862. 2
920906104863. 3
920906104864. 4

Question Number : 16 Question Id : 92090626539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& A3 $e U1 H, CHIRCAR @1 3214384 & ®U H 3R CROADS &I 345867 & ¥4 &
@fcd & STdl 81 39 U H HARTROADS &1 e & &4 o fed favar sarm?

(1) 812448567 (2) 281448576
(3) 284145867 (4) 285154876
Options :

920906104861. 1
920906104862. 2
920906104863. 3
920906104864. 4

Question Number : 17 Question Id : 92090626540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 goi 30 [ g9 I uSl &1 g3l & ol &1 610 Jid SIS

(M 65" (2) 750
(3) 850 (4) 105°
Options :

920906104865. 1
920906104866. 2
920906104867. 3
920906104868. 4



Question Number : 17 Question Id : 92090626540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 g 30 T B9 WR Ut 31 Y3di & i &1 S0l Jid Dife|

@) 659 (2) 759
(3) 850 (4) 105°
Options :

920906104865. 1
920906104866. 2
920906104867. 3
920906104868. 4

Question Number : 18 Question Id : 92090626541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fu U gw & So-yfdfara ST g g e “VAYU 84 3 6~

(M AVANB4E®Q
(20 AVANBY39
(3) AVANBH3R
4 AVANBTER

Options :

920906104869. 1
920906104870. 2
920906104871. 3
920906104872. 4

Question Number : 18 Question Id : 92090626541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e gm & Sa-ufafea FT At s Sifce«VAYU 84 3 6

() AVANB4E?Q
2y AVANB® 3@
(3) AVANBWY3Q
4 AVANBTER
Options :
920906104869. 1
920906104870. 2

920906104871. 3
920906104872. 4

Question Number : 19 Question Id : 92090626542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3P (X) BT HEl qUUI-fcifara AT -
g -
SIPI (X)

@]

(2)

(3)

(4)

Options :
920906104873. 1



920906104874. 2
920906104875. 3
920906104876. 4

Question Number : 19 Question Id : 92090626542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P (X) BT el quu-Ufdfard gHT ;
% -
Mz
SHIA (X)
o
(2)
(3) o
@ o
Options :

920906104873. 1
920906104874. 2
920906104875. 3
920906104876. 4

Question Number : 20 Question Id : 92090626543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 € Sy RU U §: U ity A & w9 ¥ forfed § o gEv 39

PRUR B EUH gl

HUDBYT A :  TH 81 & TR HTHRN H SR I8d ¢, FiTd b9l gdl DI a1 A
T g91 HH TUA 8id! g

FRUIR : AYAHE F&H 91 19 &1 A{dH dedl 6

IR HY & Maid |, A1 AU 10 fdswedi 1 8 9l IR &1 994 Sifou

(1) A SIRRGH 98l € 3R, A P Ul TAT &

(2) A SIRREH HEl € AfPR, A T Ul RS 7ol &
(3) AUER AP RS TR

(4) ARG AfBTRIEE

Options :

920906104877. 1
920906104878. 2
920906104879. 3
920906104880. 4

Question Number : 20 Question Id : 92090626543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € Sy GU U §: U siftdye A & w9 H forfed § ol gEv 39

PRUR B EUH gl

HUPYT A : THEA F [N SR H FHWR I3d §, Fifd ol gdl & ga-l A
TH a1 HH T 8idl 6

FRUR : A9HHE F&H 9 19 &1 {dH dedl g

TRIFd HYA & i H, A fou U fawedi § 3 9l It &1 994 Sifore
(1) ASIRRGH HEl & 3R, AP Ul A=A &

2) A SR RTH TE € dfba R, A BT HEl AR T8l 8

(3) ATEIR AP R IS T8

(4) ATSTEE AfFTRUER

Options :



920906104877. 1
920906104878. 2
920906104879. 3
920906104880. 4

Question Number : 21 Question Id : 92090626544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty HEmR & fae & fore it agefsr ufden S ERIYE B TR
(1) W4 Riweia (2) Sf18.&. ToRTA

(3) HHEA e 4) ofed faerd) g

Options :

920906104881. 1
920906104882. 2
920906104883. 3
920906104884. 4

Question Number : 21 Question Id : 92090626544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e wemnt & e & for w@ i Tqys ufasm & R IR B T |
(1 ddl RREIE (2) SMS.F. ToRTd

(3) wHREH g (4) ofed fagr areudt

Options :

920906104881. 1
920906104882. 2
920906104883. 3
920906104884. 4

Question Number : 22 Question Id : 92090626545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERA K IC ATk -
Y| - MA3e A el 3 Aviiat I Fues & e Yag iR aig &t =ifa s 4t

HUF Il : IR GHIY 3R HR g8 gl Ha3g A Aol F RaR & Hid 4|
SR HYH & el |, 1 fau 71u fdswed] & 4 Tl I &1 999 $ifeiw

(1) ®UF | 3R 11 el §
(2)  HYFI R 1 EHI TTAd §
(3) HYTI TGS AfbTIHYT I TTAd §
(4) PYTI7Ad g, AlPA BT TSI &
Options :
920906104885. 1
920906104886. 2

920906104887. 3
920906104888. 4

Question Number : 22 Question Id : 92090626545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEA I AT 1S
DY | - HAIEA el 7 Al § e & o wad ok die @ Aifa sigam <

HYF Il SR G 3R HR g8 gl Har3e A Racroll & GRaR & &id 41
S HYF & 3Mclld 1, 1 fSu v fawedl 1§ 9 9l 3w &1 994 $ifeiw

(1) DY IMRNITA TS
(2)  HYAI R I EH Tad §
(3) ®UFITel g, Afbd YA 11 TTad &
(4) BYTITAd g, Al HUF 11 Tl 8
Options :
920906104885 1
920906104886. 2

920906104887. 3
920906104888. 4



Question Number : 23 Question Id : 92090626546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fpafafad ¥ @ oF W 3 3fEd 9 3 79 TR @ gl

() Rory - gew s (2) fad - am. pwngd
(3) UHed - MRl fiad @) = FR -G el
Options :

920906104889. 1
920906104890. 2
920906104891. 3
920906104892. 4

Question Number : 23 Question Id : 92090626546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefafad 3 @ o 91 gm 3R © 9 3 3d 981 @i gl

()  Rary - g siar ) faul - 3R, Feongfd
(3) WEed - UGl i (@) "I PR - T el
Options :

920906104889. 1
920906104890. 2
920906104891. 3
920906104892. 4

Question Number : 24 Question Id : 92090626547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Fry g 11 B e Fifore

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) e Al (V) IS5 wE

19 fau U faeed] O 9 Hel It &1 994 Hifert:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906104893. 1
920906104894. 2
920906104895. 3
920906104896. 4

Question Number : 24 Question Id : 92090626547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & 91y gl 11 61 A Sifse

- (IF®) g (@rE®)
(A)  3FTeud 3fE (I) SETEREI Ag%
(B) sigurfeass () ST dregd I
© cfewadiameifgmr ) SOfcE G
(D) @™ Il (av) % TS

4 fSu U fadedl A A Wl It o1 994 ifee:

(1) A-(ID), B-(IV), C-(I), D-(II)
2)  A-(ID), B-(IV), C-(I1I), D-(I)
3)  A-(IV), B-(II), C~(I), D-(I1I)
4)  A-(IID), B-IV), C-(I), D-(I)

Options :

920906104893. 1
920906104894. 2
920906104895. 3
920906104896. 4

Question Number : 25 Question Id : 92090626548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HiAId dR & dgR &1 3y & fou 7 &1 I fvar Srar g |
(1) BRI 2) R

(3) SRR 4) TR

Options :

920906104897. 1
920906104898. 2
920906104899. 3
920906104900. 4

Question Number : 25 Question Id : 92090626548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

% HiId IR & SIdgR &1 30U & fou T3 &1 IUanT fobar S g |
(1)  BEIHR (2) WA

(3) SRHEeR 4) BIESHIR

Options :

920906104897. 1
920906104898. 2
920906104899. 3
920906104900. 4

Part B: Library and Information Science

Section Id : 920906526
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906855
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090626549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the organization is actively engaged in the field of scientific and technical
information and documentation?

(1) FID (2) ILA
(3) IATLIS (4) ALA
Options :

920906104901. 1
920906104902. 2



920906104903. 3
920906104904. 4

Question Number : 26 Question Id : 92090626549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad # 9§ 1 9 441 d91He Ud dabiid! Ya-1 Ud yaed & &3 § HIRd 87

(1) UH 35S (2) APTAT
3) sgefad (4) TUAU
Options :

920906104901. 1
920906104902. 2
920906104903. 3
920906104904. 4

Question Number : 27 Question Id : 92090626550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following method is used for recording details of periodicals?

(1)  Two card system (2) Newark System
(3) Three card System (4) Browne System
Options :

920906104905. 1
920906104906. 2
920906104907. 3
920906104908. 4

Question Number : 27 Question Id : 92090626550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 4 311 41 ol &) gasag # SRS UaRHEl B SFGR] 998 H W &1 S g2

(1) ¢ ®ls Rkl (2) &b Ren
3) &S R 4) w3 REen



Options :

920906104905. 1
920906104906. 2
920906104907. 3
920906104908. 4

Question Number : 28 Question Id : 92090626551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sears List of Subject Heading was first published in—

(1) 1943 (2) 1923
(3) 1933 (4) 1953
Options :

920906104909. 1
920906104910. 2
920906104911. 3
920906104912. 4

Question Number : 28 Question Id : 92090626551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eolae gleT @1 Uiy fove &1 UyH UHT g3l ol -

(1) 1943 (2) 1923
(3) 1933 (4) 1953
Options :

9209061049009. 1
920906104910. 2
920906104911. 3
920906104912. 4

Question Number : 29 Question Id : 92090626552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LCSH stand for—

(1)  Library of Congress Subject Heading

(2)  Library of Congress Sociology Heading

(3)  Library of Congress Science Heading

(4)  Library of Congress Social Science Heading

Options :

920906104913. 1
920906104914. 2
920906104915. 3
920906104916. 4

Question Number : 29 Question Id : 92090626552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uq i UY UF S Sl @ -

(1) WIgsRl 3T SR Hselae glatl
2)  TISSRI HE HIUY WREEen gfen
(3) WSS AP HIUH WY e
(4)  TIgSRT 3HTH HIUY T 159 efeT
Options :
920906104913 1
920906104914. 2

920906104915. 3
920906104916. 4

Question Number : 30 Question Id : 92090626553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an example of extension service?

(1) Exhibition (2) SDI
(€)) Reading Circles (4) Story hour for Children
Options :

920906104917. 1



920906104918. 2
920906104919. 3
920906104920. 4

Question Number : 30 Question Id : 92090626553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ® O o= O 3 Aa1sif &1 IgeI0 A6 6 -

(1) Ve (2) THEIamg

3) dfgnafda (4) o= P forU Hg ¥Hy
Options :

920906104917. 1
920906104918. 2
920906104919. 3
920906104920. 4

Question Number : 31 Question Id : 92090626554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the section in Andhra Pradesh Public Libraries Act-1960 has provision for library
Cess?

(1 Section 3 (2) Section 4
(3) Section 8 (4) Section 20
Options :

920906104921. 1
920906104922. 2
920906104923. 3
920906104924. 4

Question Number : 31 Question Id : 92090626554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ & & I A1 U YU WiduiHe Jidbray A 1960 # YEIbTad 9 6l
WU @ -

(1) HaA3 (2) US4
3) JFA8 (4) YA 20
Options :

920906104921. 1
920906104922. 2
920906104923. 3
920906104924. 4

Question Number : 32 Question Id : 92090626555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A basic catalog card, in the form of a main entry which when duplicated may be used as a

unit for all other entries for that works in the catalog by the addition of the appropriate
heading is called —

(1) Guide card (2) Master card
(3) Unit card (4) Library card
Options :

920906104925. 1
920906104926. 2
920906104927. 3
920906104928. 4

Question Number : 32 Question Id : 92090626555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U =1 U, ol o 4R uafy & wau # o ufafeit & wu & want faean o 9&ar g;
gie &1 ave o o= quft wafpdi 1wt & ur gian @ -

1) TES H1S (2) HRE FIS
(3) gFe®rs (4) TS HIS
Options :

920906104925. 1
920906104926. 2



920906104927. 3
920906104928. 4

Question Number : 33 Question Id : 92090626556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

International Standard Bibliographic Description was developed our of a resolution of
the international Meeting of Cataloguing experts, organized by the IFLA Community on

Cataloguing is in 1969.

(1) London (2) New York

(3) Florida (4) Copenhagen
Options :

920906104929. 1
920906104930. 2
920906104931. 3
920906104932. 4

Question Number : 33 Question Id : 92090626556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1969 H UEIBROT W 3UAl HHCT gR1 iford Ui & fadivel @1 sfaripig
a3 & URUMH WY SHRIFY A aiHagH! & URgdisor &1 Fafor ga

(1) A (2 b
3) TSI (4) SIUTeRHA

Options :

920906104929. 1
920906104930. 2
920906104931. 3
920906104932. 4

Question Number : 34 Question Id : 92090626557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DDC 20" edition, was published in 1989 and edited by—

(1) H.E. BLISS (2) A.). Foskett
(3) J. P. Comaromi (4) CW.Wison
Options :

920906104933. 1
920906104934. 2
920906104935. 3
920906104936. 4

Question Number : 34 Question Id : 92090626557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1989 H UPIAId SISl &1 2091 H¥BI0l &1 grdre fagr 1

(1) wad el (2) USl wipe
(3) Sl HHERIW (4) WISy, faaua
Options :

920906104933. 1
920906104934. 2
920906104935. 3
920906104936. 4

Question Number : 35 Question Id : 92090626558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 1885 and Henry La Foutaine were working in a project “Universal Bibliographic
Repository” Which was intended to become a Comprehensive index to all published
Information.
(1) John Otlet (2) Paul Otlet
(3) M. Tobey (4) Allen Kent

Options :

920906104937. 1
920906104938. 2
920906104939. 3
920906104940. 4



Question Number : 35 Question Id : 92090626558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1985 T IR B @ B Us Uieide “gHadd faaferdinihe Rueed ) &1l
@ Ve 4 o d1g H 9t y1frd o & fore faxgd srwHiteT & wu d ualkid g

(1) 9 3{iede (2) UId 3HIcTe
3) UH CHEI (4) UTAHI<

Options :

920906104937. 1
920906104938. 2
920906104939. 3
920906104940. 4

Question Number : 36 Question Id : 92090626559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The leader is first field in any MARC record and has a fixed length of ___ characters.
(1 22 (2) 19
(3) 24 (4) 23

Options :

920906104941. 1
920906104942. 2
920906104943. 3
920906104944. 4

Question Number : 36 Question Id : 92090626559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadt wireh FYapTs @t yuw wies # oSt a1 us Aifga oS 8 SHERT P

(1 22 2) 19
(3) 24 4 23

Options :



920906104941. 1
920906104942. 2
920906104943. 3
920906104944. 4

Question Number : 37 Question Id : 92090626560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Unit of CPU extracts program instructions one at a time in the required
sequence from their location in the main storage, decodes them and issues instructions:

(1) Main Memory (2) Arithmetic
(3) Control (4) Process
Options :

920906104945. 1
920906104946. 2
920906104947. 3
920906104948. 4

Question Number : 37 Question Id : 92090626560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hidig &1 gie Ui # @i &I U [igd sen # I0t ' 8 te g
g # fApTel 8, St JR81 HUSRUT § U 8id §

(1) H= R 2) ordffes

(3) @ (4) U

Options :

920906104945. 1
920906104946. 2
920906104947. 3
920906104948. 4

Question Number : 38 Question Id : 92090626561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Recall’ function in library house keeping operations comes under:

(1)  Acquisition Module (2) Cataloguing Module
(3) Serial control Module (4) Circulation Module
Options :

920906104949. 1
920906104950. 2
920906104951. 3
920906104952. 4

Question Number : 38 Question Id : 92090626561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JRIPIad ¥ “g-RIghT S a8

(1) SITI8U UHT (2)  YHUTHIES! =0 gHm
(3) ORI THT (4)  STEF-UEH UHAT
Options :

920906104949. 1
920906104950. 2
920906104951. 3
920906104952. 4

Question Number : 39 Question Id : 92090626562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mention the which edition of classified catalogue code published in 1958.

(1) 2™ edition (2) 3™ edition
(3) 4" edition (4) 5" edition
Options :

920906104953. 1
920906104954. 2
920906104955. 3
920906104956. 4



Question Number : 39 Question Id : 92090626562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1958 T FANITBISS HTANT B BT I Tl HXHU YHIA gl

(1) fedig g (2) g
(3) dqd dwu (4) UEH GBI
Options :

920906104953. 1
920906104954. 2
920906104955. 3
920906104956. 4

Question Number : 40 Question Id : 92090626563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UDC has been published under the aegis of

(1)  American Library Association (ALA)
(2) Library of Congress (LC)

(3) British Standards Institution (BSI)
(4) Canadian Library Association (CLA)

Options :

920906104957. 1
920906104958. 2
920906104959. 3
920906104960. 4

Question Number : 40 Question Id : 92090626563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR DI YD G

(1) MRS RHay 9 (T TA )
2) skl 3HH BT

3) ol wvsy sEtegem

(4) HASTH qEIHIOd §Y

Options :

920906104957. 1
920906104958. 2
920906104959. 3
920906104960. 4

Question Number : 41 Question Id : 92090626564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has defined alphabetical classed catalogue as an alphabetic Subject Catalogue?

(1)  Horner (2) S.R.Ranganathan
(3) C. A. Cutter (4) Neelameghan
Options :

920906104961. 1
920906104962. 2
920906104963. 3
920906104964. 4

Question Number : 41 Question Id : 92090626564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ueprafchd FarHg Beral B Udh Uablae Jeaie bedlf &1 aig URHIfeGd faar:

1 TR (2) THIMR THA
(3) dHUHR (@) g
Options :

920906104961. 1
920906104962. 2
920906104963. 3



920906104964. 4

Question Number : 42 Question Id : 92090626565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Common Communication Format (CCF) Provides Standard for bibliographic records,
which can be used:

(1) Only in libraries.
(2) In libraries and Non libraries agency.
(3)  Only in documentation centres.

(4)  Only in Non library agencies.

Options :

920906104965. 1
920906104966. 2
920906104967. 3
920906104968. 4

Question Number : 42 Question Id : 92090626565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B HRHIA BIRAC (HH1Uh) ® aig ga-1si & 1 aF® UeH &l 8, fordedt ugim
eIl g:

(1) &ad Qdradl §

) YEHIe™ Ud IR qEadrad geursdi §
(3) had yoET bl H

(4) &dd IR GBI GRS |

Options :

920906104965. 1
920906104966. 2
920906104967. 3
920906104968. 4

Question Number : 43 Question Id : 92090626566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

UNIX consists of layers:

(1 4 (2) 3

@y 2 (4) 6
Options :

920906104969. 1
920906104970. 2
920906104971. 3
920906104972. 4

Question Number : 43 Question Id : 92090626566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

giey WA © |

(1) - (2) 3
(3) 2 4) 6
Options :

920906104969. 1
920906104970. 2
920906104971. 3
920906104972. 4

Question Number : 44 Question Id : 92090626567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The network topology, where each node in connected directly to a central hub is called:

(1)  Linear Bus Topology (2) Star Topology
(3)  Ring Topology (4) Tree Topology
Options :

920906104973. 1
920906104974. 2
920906104975. 3
920906104976. 4



Question Number : 44 Question Id : 92090626567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Jead aw] Ford Ud® 18 U6 Sl gd A JST el @ :

(1) <R <9 2gierslt (2) ¥R Trarsl
3) T et (4) <l
Options :

920906104973. 1
920906104974. 2
920906104975. 3
920906104976. 4

Question Number : 45 Question Id : 92090626568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Subject cataloguing requires sufficient knowledge of the subject of

(1) Journals and Books (2) Book
(3) Annual Report (4) Conference Proceedings
Options :

920906104977. 1
920906104978. 2
920906104979. 3
920906104980. 4

Question Number : 45 Question Id : 92090626568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay ugdieru i fawg & fawga IHer $ siawadd gl &:

(1) UBeH vd gEd (2) gW®
3) dfte ufdded (4) THIE HRIGTE!
Options :

920906104977. 1
920906104978. 2



920906104979. 3
920906104980. 4

Question Number : 46 Question Id : 92090626569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLAISE stand for—

(1)  The British Library’s Automated Information services
(2) The British Library Annotated Information service’s
(3) The Bengal Library's Annual Information service's

4) The British Library's Auto-Generated Information service

Options :

920906104981. 1
920906104982. 2
920906104983. 3
920906104984. 4

Question Number : 46 Question Id : 92090626569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EUCES

(1) &Ry agsdiv sifdies SAwARH afdad
2) ¢ et aRddy uHeeE FHABRAYH aiddw

(3) g SId Argeiie S SABREYH Hiadd

4) < fefew aEedi siicl-SFRes SThRANA dfaad

Options :

920906104981. 1
920906104982. 2
920906104983. 3
920906104984. 4

Question Number : 47 Question Id : 92090626570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A list of books in a collection in which the entries for books under their titles are arranged
in alphabetical order is called —

(1)  Name catalogue (2) Title catalogue
(3)  Auther catalogue (4) Subject catalogue
Options :

920906104985. 1
920906104986. 2
920906104987. 3
920906104988. 4

Question Number : 47 Question Id : 92090626570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il B1 dg G fod qeaes] &1 uiafpdl 3% il & srard eiari & oH H Hafyd
&1 WITdl €, 1 Hel oIl @ :

(1) AHugE (2) X gt
(3) Ed ugdl (4) fawg vgEt
Options :

920906104985. 1
920906104986. 2
920906104987. 3
920906104988. 4

Question Number : 48 Question Id : 92090626571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which method of financial estimation minimum amount per head of population is
fixed?

(1) Line Budget Method (2) Per capita Method
(3)  Programme Budget Method (4) Lump Sum Method
Options :

920906104989. 1
920906104990. 2
920906104991. 3



920906104992. 4

Question Number : 48 Question Id : 92090626571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg fa<ita srgmm ot fafd # ufdeafaa Fgaw vy & R asie ufdba 3t §d 2

(1) A e fafd (2) W-Figer fafy
(3) UM g9 (4) WH-9H goie fafy
Options :

920906104989. 1
920906104990. 2
920906104991. 3
920906104992. 4

Question Number : 49 Question Id : 92090626572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Omnipage pro software is meant for which application:

(1) Audio / Video (2) Graphics
(3) OCR (4) Word Processing
Options :

920906104993. 1
920906104994. 2
920906104995. 3
920906104996. 4

Question Number : 49 Question Id : 92090626572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Ul Siheda? &1 WA 81T &:
(1) sfeg-difea (2) Wty
(3) 3SR (4) g U

Options :



920906104993. 1
920906104994. 2
920906104995. 3
920906104996. 4

Question Number : 50 Question Id : 92090626573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under which act the printer of a book was supposed to deliver free to the provincial
government concerned one copy of book?

(1)  Universal availability of publication
(2)  Press and Registration of Books Act
(3) Madras Public libraries

(4)  Universal copyright

Options :

920906104997. 1
920906104998. 2
920906104999. 3
920906105000. 4

Question Number : 50 Question Id : 92090626573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fard SffTT & sidiid god &9 ¥ e &1 U Ufd Jditd T50 TR &I UgH S DI
fafer &1 Fmfor favar man @

(1) NS YHTHE BT Il

(2) U QU ST 3Tt g U
(3) TaN UiduHe gaead gy
4) HEHHS SiREe

Options :

920906104997. 1
920906104998. 2
920906104999. 3
920906105000. 4



Question Number : 51 Question Id : 92090626574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In CCC, alternative names are taken care of by

(1 Cross Reference Entry (2) Cross Reference Index Entry
(3)  Main Entry (4) Class Index Entry
Options :

920906105001. 1
920906105002. 2
920906105003. 3
920906105004. 4

Question Number : 51 Question Id : 92090626574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et | sifafvad =E! &1 urheH i o &

(1)  HEIGE T (2) P YHIY TUSaY U]
3) HBIufas (4) oAH 3USH U<l
Options :

920906105001. 1
920906105002. 2
920906105003. 3
920906105004. 4

Question Number : 52 Question Id : 92090626575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which edition of colon classification written by Shiyali Ramamrita Ranganathan
included the postulate of five fundamental categories.

{1y @ (2) 6
(3) 3 4) 4



Options :

920906105005. 1
920906105006. 2
920906105007 3
920906105008. 4

Question Number : 52 Question Id : 92090626575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STel THAT FEYA A Siaq aaiiitheH & fu S 8 i gayd 4ol & gl
&1 yfcare- faar

m 7 (2) 6
@ 3 4 4
Options :

920906105005. 1
920906105006. 2
920906105007. 3
920906105008. 4

Question Number : 53 Question Id : 92090626576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An abridged edition of DDC was first issued in

(1) 1994 (2) 1894
(3) 1794 (4) 1694
Options :

9209061050009. 1
920906105010. 2
920906105011. 3
920906105012. 4

Question Number : 53 Question Id : 92090626576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UWYHER ¥ SISkl &1 Ufsioig H&hul S |

(1 1994 (2) 1894
(3) 1794 (4) 1694
Options :

9209061050009. 1
920906105010. 2
920906105011. 3
920906105012. 4

Question Number : 54 Question Id : 92090626577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The British National Bibliography is the example of

(1)  Co-operative Cataloguing (2) Centralized Cataloguing
(3)  Limited Cataloguing (4) Union Cataloguing
Options :

920906105013. 1
920906105014. 2
920906105015. 3
920906105016. 4

Question Number : 54 Question Id : 92090626577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farfesr Tt aferg gt IeTeRor @

(1) EEHRI TR (2) FIAPd TP
(3)  Hiftra vt (4) e U6
Options :

920906105013. 1
920906105014. 2
920906105015. 3
920906105016. 4



Question Number : 55 Question Id : 92090626578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is informal channel of communication?

(1) Thesis (2) Reports
(3) Encyclopaedia (4) Invisible college
Options :

920906105017. 1
920906105018. 2
920906105019. 3
920906105020. 4

Question Number : 55 Question Id : 92090626578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 T S 91 Y1 &1 SFEAING 7 g

1 iRk (2) Rurdyg
3) FaEdaifsan (4) ST Dlad
Options :

920906105017. 1
920906105018. 2
920906105019. 3
920906105020. 4

Question Number : 56 Question Id : 92090626579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a method of acquisition of periodical

(1)  Subscription (2) By Gift
(3) By exchange (4) Byloan
Options :

920906105021. 1
920906105022. 2



920906105023. 3
920906105024. 4

Question Number : 56 Question Id : 92090626579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 # ¥ $F 91 It yeeHl & sifimeu of 3fd a8 g

(1) HEH (2) JUg
3) fafam 4) FU
Options :

920906105021. 1
920906105022. 2
920906105023. 3
920906105024. 4

Question Number : 57 Question Id : 92090626580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L1, L2, L3 are type of

(1) SRAM (2) DRAM
(3) EEPROM (4) EPROM
Options :

920906105025. 1
920906105026. 2
920906105027. 3
920906105028. 4

Question Number : 57 Question Id : 92090626580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud 1, Ud 2, Td 3 UPR &

(1) TIIARTTH (2) SIRUTA
(3) S3Um (4) U



Options :

920906105025. 1
920906105026. 2
920906105027 3
920906105028. 4

Question Number : 58 Question Id : 92090626581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following method, jobs in an organization are arranged in an order,
namely from the most complex to the simplest or vice versa.

(1)  Job ranking method (2) Factor comparing method
(3)  Point system method (4) Merit rating method
Options :

920906105029. 1
920906105030. 2
920906105031. 3
920906105032. 4

Question Number : 58 Question Id : 92090626581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafaa & 9 feg 3t I fedt den o ol & ve on | sgaffug faar 9rdar g, 3ee &
R W 3fd faay ¥ eaan fafy

1y olid fHT Ays (2) e HHRIEE AYs
3) Uige e Ays (4) ARE I AYS
Options :

920906105029. 1
920906105030. 2
920906105031. 3
920906105032. 4

Question Number : 59 Question Id : 92090626582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Any act by a conservator that involves a direct interaction between the conservator and
the cultural material is known as ?

(1) Reflective conservation (2) Manuscript conservation
(3) Preventive conservation (4) Interventive conservation
Options :

920906105033. 1
920906105034. 2
920906105035. 3
920906105036. 4

Question Number : 59 Question Id : 92090626582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TREU1 1 Pig Hedw forgd e Ud Gpiad a%q S 0 WYl drdiany 3ydl FdeR wId
gIdl ¢, Peard g ———

M Roeifd d@eeo (2) FISHIP Ta
3) hdfeq wrem (4) Zodied W&
Options :

920906105033. 1
920906105034. 2
920906105035. 3
920906105036. 4

Question Number : 60 Question Id : 92090626583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tabulated figures which are employed by most of the Libraries in order to gauge the

progress or regress of Libraries is known as ?

(1)  Library calendar (2) Library plan

(3)  Library statistics (4) Library Budget
Options :

920906105037. 1
920906105038. 2



920906105039. 3
920906105040. 4

Question Number : 60 Question Id : 92090626583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qRIDIadl § IAd 31 3Ha-fd & H9F & ot Rerdias difaerao & faf sgand §

(1) T Havs (2) TEIbad grel
3) UXbIay Jiegs! (4) YXisIeg §olc
Options :

920906105037. 1
920906105038. 2
920906105039. 3
920906105040. 4

Question Number : 61 Question Id : 92090626584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What implies the assignment of a right job to the right person?

(1) Performance evaluation (2) Placement
(3) Induction (4) Training
Options :

920906105041. 1
920906105042. 2
920906105043. 3
920906105044. 4

Question Number : 61 Question Id : 92090626584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e aafdd &1 W6l F1d UeH fPu o &1 FHgl o1l 82

(1) TBRAEY 3degueH (2) wEH<
(3) TR (4) e
Options :

920906105041. 1
920906105042. 2
920906105043. 3
920906105044. 4

Question Number : 62 Question Id : 92090626585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A MARC 21 Record consists of three elements, i.e

(1) Record structure Content designation and content of the record
(2) Content Designation, leader and Variable data field
(3) Data field record structure and content designation
(4) Directory, Data field and record structure
Options :
920906105045. 1
920906105046. 2

920906105047. 3
920906105048. 4

Question Number : 62 Question Id : 92090626585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U AIb-21 T8 gl d aar 8
(1) RIS TRR s SRFHTH td e 31 3l Rars
2 &< SOHRH dist ud dRded 321 Bis
3) S wieE, Nals e vd o< ShormzA
(4) SHEREed, 3¢ hice e RaTs Wai



Options :

920906105045. 1
920906105046. 2
920906105047. 3
920906105048. 4

Question Number : 63 Question Id : 92090626586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microfiche is used for—

(1 Printed documents (2) Electronic documents
(3) Source documents (4) Legal documents
Options :

920906105049. 1
920906105050. 2
920906105051. 3
920906105052. 4

Question Number : 63 Question Id : 92090626586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HISHITHY &1 WA &1 S g -

(1) USIRE el (2) gadIHS Jodl
() Hid Had] (4) fafe deral
Options :

920906105049. 1
920906105050. 2
920906105051. 3
920906105052. 4

Question Number : 64 Question Id : 92090626587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year cataloguing-in-Publication (CIP) was began

(1) 1981, May (2) 'I‘_:J'?'I,July
(3) 1961, December (4) 1951, September
Options :

920906105053. 1
920906105054. 2
920906105055. 3
920906105056. 4

Question Number : 64 Question Id : 92090626587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{5 o H FeafH-39-ufRih I &1 URY gafl -

(1) 1981, 93 (2) 1971, Jdls
(3) 1961, fewraR (4) 1951, Fda”
Options :

920906105053. 1
920906105054. 2
920906105055. 3
920906105056. 4

Question Number : 65 Question Id : 92090626588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Classification Research Group (CRG) was formed in.

(1) 1942 (2) 1952
(3) 1962 (4) 1972
Options :

920906105057. 1
920906105058. 2
920906105059. 3
920906105060. 4



Question Number : 65 Question Id : 92090626588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fariith e Rad U @& SR o) &1 Fmior ger -

(1) 1942 (2) 1952
(3) 1962 4 1972
Options :

920906105057. 1
920906105058. 2
920906105059. 3
920906105060. 4

Question Number : 66 Question Id : 92090626589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Collection development is the important activity of library and must be
done judiciously.

Reasons (R) : Demand is the only governing factor in book selection.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
920906105061. 1
920906105062. 2

920906105063. 3
920906105064. 4

Question Number : 66 Question Id : 92090626589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

13 G HyA BT U §: U 3G (Assertion A) & &0 H fiied & o a1 39S
P (Reason R) & =Y ﬂ;

AHYFYA A © bl ¥ Y&ad g JHM e ygd iy 8 3R 39! aurigds

ERIEICIEIRY]

HRUIR : Qd 994 1 A U A1 Hofarers srRu gl
JRIFd YA & el H, = U U fawedl § 8 981 IR &1 994 S

(1)
(2)
(3)
(4)

A 3R R I 9el § 3R R, A &1 Ugl AARAT &

A 3R R ST Wl € AP R, A B 9 aaren T8 §
A el €, AfbT R WSl 18T ©

A el T81 €, AfPT R TS @

Options :

920906105061. 1
920906105062. 2
920906105063. 3
920906105064. 4

Question Number : 67 Question Id : 92090626590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Availability of online resource in large volume and variety counselled the
librarian to go for contortions subscription.

Reasons (R) : Selection of e-resources requires utmost care and caution in other to
make same user centric.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906105065. 1
920906105066. 2
920906105067. 3
920906105068. 4

Question Number : 67 Question Id : 92090626590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 ®yA AU U §: U AfUEH U (Assertion A) & T4 T fifad & df guv1 39
@R[ (Reason R) & ¥ H;

SHEHYT A ;AR TEYET DT UG AE1 U9 fafdudr 9 QeTaaards & $HRfeaH

3R & fere arfed fean|
HRUIR : IERTHA - IHW §99 & ol 3-GEeE! &1 909 Grauigded &A1
Bl

IWIad YA & e |, AT S 70 fawedi 7 9 el I &1 994 Do

(1)  ASRRIAGE E R R, A DI G AT §

2) A SRRTH Hel g, dfd- R, A B UE! RS el &
3) AT ABTR IS AL

(4) AWSTEIE APTREE S

Options :

920906105065. 1
920906105066. 2
920906105067. 3
920906105068. 4

Question Number : 68 Question Id : 92090626591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Internet acts as a subtitles to the libraries.
Reasons (R) : With the availability of quick and comprehensive information through

internet, need for reference service with a human touch is decreasing.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct



Options :

920906105069. 1
920906105070. 2
920906105071. 3
920906105072. 4

Question Number : 68 Question Id : 92090626591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 g1 YA fAU U §: U SifidH YA (Assertion A) F ¥U ¥ fafad § dl gR1 38
] (Reason R) E F‘Jﬁ;

HUYBYTA ;oA Tadrad] & fore va sifafved 9id &1 did Sl 2|

HRUR : $e¥e & R XY Ud f3vgd a1 &1 SUdeidl & SR gy Ja1 § aFdh
SIdgR &H gl T ¢

I HYA & fald 1, 1 fSu e fdeedi & 9 9l 3o &1 994 $ifoie

(1) ASRRIATHEIE AR R A DI HSI RS &

2) A SRR Ul €, AP R, A I T RS G §
3) ATEE APTIRUS SR

(4 AWRITIE APTRIG?

Options :

920906105069. 1
920906105070. 2
920906105071. 3
920906105072. 4

Question Number : 69 Question Id : 92090626592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): A scheme of performance appraisal should be designed in a way that
provides staff with an evaluation of current bibliographical tools.

Reasons (R) : Training of library professionals must be a planned and continuous
programme for staff at all levels to improve their performance and
develop their skills.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906105073. 1
920906105074. 2
920906105075. 3
920906105076. 4

Question Number : 69 Question Id : 92090626592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 € $YA AU U §: U AHHBHUH (Assertion A) F ¥4 T foifad € ol gHR1 39D
PRI (Reason R) & ¥4 H;

AHMPYTA : TH WHH AU HI Aol 5T UHR ¥ dUR &1 9H1 9ifeu 5 g8
FAAM TiTHT IUHION & FHien § SHarE] o Terdr UeH &

HRUIR : QEIPIay URaR] &1 Ui Jdd SRiHH! Ud dieH1sii & sfaid wer fdar
ST A1 ol 3] WWHIRAH 3R 10 # i &1 off 9 |

JIWiad YA & 3faid |, i fau 71v A 1 9 98l 39 &1 994 $ifeu

(1)  ASRRIA TSI € SRR, A DI TSI AR &
2) A SMRREH HE g AfBAR, A P Ul TR el 8
3) AWEE AR
(4) AWEIEIE dAfFA R Tl 8
Options :
920906105073. 1
920906105074. 2

920906105075. 3
920906105076. 4

Question Number : 70 Question Id : 92090626593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A) :  Library schools in India have not yet adopted the uniform curriculum.
Reasons (R) : LOCF suggested by UGC is strictly mandatory to adopt.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :



920906105077. 1
920906105078. 2
920906105079. 3
920906105080. 4

Question Number : 70 Question Id : 92090626593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A €1 YA QU MU §: U HiHYH (Assertion A) F T4 # fiRad 8 ol g¥R1 39S
&R (Reason R) & =Y ﬁ,‘

AMHBPYTA : HRd # Yy [qearedl § oMl 9 U THH fawyg sfewrgor 981 faan
T gl

FRUR : ol gRT U Ua i 9t U (LOCF) fHard §1
JWIad YA & a1, A9 f2u 0 fasedi 9 § 9el Ik &1 9094 Do

(1) ASIRREH Hel g 3R R, A DI ¥l ARAT &

(2) ASIRRGH Hel g, AfGAR, A B UL TS el §
3) AT AfPTRUE T2

(4) ATEITEE APTREE S

Options :

920906105077. 1
920906105078. 2
920906105079. 3
920906105080. 4

Question Number : 71 Question Id : 92090626594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  As the collection grows, it will be a good practice to categorize the
collection into two sequences namely the active and secondary
collection.

Reasons (R) : Categorizing collection into two sequences active and secondary

collection helps in making active collection attractive by retaining latest
and relevant books and secondary collection facilitates the old and not
so relevant books move to a less prime location.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1n Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {(A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :

920906105081. 1
920906105082. 2
920906105083. 3
920906105084. 4

Question Number : 71 Question Id : 92090626594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 HyA U T §: U 3HfHHYUA (Assertion A) & &Y # foied & ot a1 39S
U (Reason R) & E Y H;

HMBYT A : GBI H G G9e # 9 U 91y GU &1 3 =Rl 9iby ud fadias
9 & 1 9 faunfera fasar s 9nfgu)

PRUR : Tug P Iy vd fgdias vug & [(ufsa s ¥ afey 9y # AdiAan
Q! adl fgdiad Gug ¥ 1 yaiend qxad o= RIFT W 39! o 9&dl gl
JIWIEd Y9 & Hdld H, A9 f3u 70 fasedi 9 § 9el I &1 9094 Do

(1) A SRR Hl € 3R R, A DI Tl ARAT &
2) ASIRRIH HEl 8, AfBAR, A B UL ARSI el ©
3) AWEE AFTRUG TS
(4) ATETEIE AfFTRUE B
Options :

920906105081. 1
920906105082. 2
920906105083. 3
920906105084. 4

Question Number : 72 Question Id : 92090626595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Colon classification is based on the classification of any subject by its
used and relations, which are indicated by number divided by a colon.

Reasons (R) : It is the first example of analytic synthetic classification where ready
made class numbers are provided for most of the topics.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906105085. 1
920906105086. 2
920906105087. 3
920906105088. 4

Question Number : 72 Question Id : 92090626595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 Sy U MU §: U 3ifii@YH (Assertion A) & &4 ¥ fiad & o a1 39S
U (Reason R) FEUH;

AMBEYT A :  Blad TifEo Bt fawg & arifevo & & Iud varit vd el g
Wi ud siaq s g1 ueiia i sirar g8, W snuifid g1

FRUIR : g UAifeda fdfed Fiieu &1 yyd Iasu ¢, s YEms annfe und
Bl gl

IWad Y & faid § A fSu v e O | 98l 39 &1 994 Sifon

(1) A SRR Ul § SR R, A DI Ul AR &

2) A SR RTH F8! 8, Wb R, A B UL AR 8] &
(3) AT APTRILE TS

4) AUEITEIE APTRUE S

Options :

920906105085. 1
920906105086. 2
920906105087. 3
920906105088. 4

Question Number : 73 Question Id : 92090626596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following networks in correct order of their origin.

DELNET
B. MALIBMNET
£ INFLIBNET

D. CALIBNET

Choose the correct answer from the options given below :
(1) C B, DandA only
(2) B, D, Cand A only
(3) D, A, C and B only
4) A, B, D and C only

Options :



920906105089. 1
920906105090. 2
920906105091. 3
920906105092. 4

Question Number : 73 Question Id : 92090626596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafiEd Aeac @1 396 IeH & Il v § oJaiyd Hifeig

A. ST

B. HfetrEde
C FAftdeEe
D. fdeae

44 fou e faded] 7 8 Hel IR &1 99 Siforu :

(1) ®ddC, B, DRA
(2) ddB,D,C3RA
(3) HaaD, A C3RB
(4) HAdA B DSRC

Options :

920906105089. 1
920906105090. 2
920906105091. 3
920906105092. 4

Question Number : 74 Question Id : 92090626597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following task of periodicals section in an order.

A

B
]
D

Recording detail of each issue received.
Collating back issues of periodicals for binding.
Sending current issues of periodicals for display.

Sending reminders for non-receipt of periodicals or any of its issues.

Choose the correct answer from the options given below :

(1)

D, B, A and C only

(2) C, D, Band C only

(3) A, D, C and B only

(4) B,C,DandAonly
Options :

920906105093. 1
920906105094. 2
920906105095. 3
920906105096. 4

Question Number : 74 Question Id : 92090626597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS HH H gmas! [y & Fefaiea $raf o soafud sife

A

B.

C.

D.

TP URAST B1 Y1 YAfed 3 H

e ueTail - 32 &l fofeaHmsit & fag

T uBe1sfi &1 HeRiA & forg ST

TS TS ST 3Tl & ol Wfaus e

i fou U fadedi A | et I &1 99 Hifeld -

(1)
(2)
(3)
(4)

ad D, B, AR C
%dd C,D, B3R C
®ad A, D, C 3R B
&dd B, C, D 3R A

Options :



920906105093. 1
920906105094. 2
920906105095. 3
920906105096. 4

Question Number : 75 Question Id : 92090626598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in ascending order according to the years of first publication:

A Current Biography

B International who's who

C. Webster's Biographical Dictionary
D Chamber's Biographical Dictionary

Choose the correct answer from the options given below :

(1) A, B, C and D only
(2) B, C, D and A only
(3) C, D, Band A only
(4) B, A Cand D only

Options :

920906105097. 1
920906105098. 2
920906105099. 3
920906105100. 4

Question Number : 75 Question Id : 92090626598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafaa &1 UeeE & UyW 9y & YR I aid &l
A BT SRTH

B. SCIYHAEWE
C. de%ey SOUMhIed SR
D. IRy IOUBIEd fSag-1

d fou e fasedl 7 9 98l I &1 994 Sifoe -

(1) ®ddA,B C3HRD
(2) ®ddB,C, D3IRA
(3) HddAC, D, BIARA
(4) FdAB A C3RD

Options :

920906105097. 1
920906105098. 2
920906105099. 3
920906105100. 4

Question Number : 76 Question Id : 92090626599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following area of description According to AACR2R 1988.

A Title and Statement of responsibility.

B Edition

& Material (or type of publication) specific details.
D. Physical Description
E:

Publication, distribution, etc.

Choose the correct answer from the options given below :

(1) D,A C EandBonly
(2) A, D, C BandE only
(3) A, B, C Eand D only
(4) ED,C BandAonly

Options :

920906105101. 1
920906105102. 2
920906105103. 3
920906105104. 4

Question Number : 76 Question Id : 92090626599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U U SR 11 3R 1988 & IHTUR TRAT S {SErw &1 afeyd Sifo:
A. ¥ ud wWedve Regrafaferdt

B. B

C. UDRHE HI UHR Ud GHdl G-I

D. Mifd® ga

E. UeEH [qavu sane

413 fdu e faeedi | 9 9l IR &1 994 Hiforw ;

(1) &ddD,A CESRB
(2) ®dAA D, CB3IRE
(3) AAA B C ESRD
(4) HAAE D,C B3RA

Options :

920906105101. 1
920906105102. 2
920906105103. 3
920906105104. 4

Question Number : 77 Question Id : 92090626600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequencing the following steps involved in the application of POPSI

A Verbal representation

B Display of Component

C Short display

D. Subject index entries derivation
E Approach Term

Choose the correct answer from the options given below :

(1) C. A, D, BandE only
(2) A, C, D, Eand B only
(3) B, D, C, Eand A only
(4 A, B, C, Eand D only

Options :

920906105105. 1
920906105106. 2
920906105107. 3
920906105108. 4

Question Number : 77 Question Id : 92090626600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FufeiEd &1 gl (POPSI) SFWERT & RO & SHTHR Hid Bifold:

A HifES YR

B. WUS &YW

c. difid yes[

D. fawg srwmwor wfas
E. Ugd Usq

1 feu e faeedl 4 9 9l IR &1 994 Sifert

(1) ®adC A D, B3R E
(2) ®AdA,C, D, E AR B
(3) ®ddB,D,CER A
4) HadA B CESR D

Options :

920906105105. 1
920906105106. 2
920906105107. 3
920906105108. 4

Question Number : 78 Question Id : 92090626601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequencing the chapters for specific types of materials have been covered in.

A. Chapter — Manuscript

B Chapter — Books

3 Chapter — Music

D. Chapter — Cartographic materials
E; Chapter — Sound Recording

Choose the correct answer from the options given below :

(1) A CD BandEonly
(2) E, A B, DandConly
(3) B, D, A Cand Eonly
(4) C B E DandAonly

Options :

920906105109. 1
920906105110. 2
920906105111. 3
920906105112. 4

Question Number : 78 Question Id : 92090626601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faft yR &1 "reEital 9 it siearal &1 it S
A 3eOM - Uigfey

B. 3{UON-J&i®
C. 3Oy - Hid

D. 3O/ — Hriferd Jrdt
E. 3O/ — g+ et

4t fou e faeedi A 9 €t IR &1 999 Fifore -

(1) &ddA C D,B3IRE
(2) $AWE A B D3RC
(3) ddB, D, A C3IRE
(4) FddC B EDIIRA

Options :

920906105109. 1
920906105110. 2
920906105111. 3
920906105112. 4

Question Number : 79 Question Id : 92090626602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequencing the following structure of the leader in MARC 21 Records.

A, Record Status

B Record length

# Type of Record

D. Implementation - defined
E. Bibliographic Level

Choose the correct answer from the options given below :

(1) A/ B, D, CandE only
(2) B, A, C, DandE only
(3) E A B CandDonly
(4) D,B,C EandAonly

Options :

920906105113. 1
920906105114. 2
920906105115. 3
920906105116. 4

Question Number : 79 Question Id : 92090626602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"1 — 21 18 # eiis B Wa1 &) sivd Sifen ;

A ReEEwR

B. R&damars
c ReE@uer
D. ®EfagA

E. dAgER

i fou e fased] # |9 Wel IR &1 994 Hifolt -

(1) &ddA, B, D, C IRE
(2) $ddB, A C DIIRE
(3) &AAE A B C3RD
(4) $ddD,B,C ESRA

Options :

920906105113. 1
920906105114. 2
920906105115. 3
920906105116. 4

Question Number : 80 Question Id : 92090626603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Books are for use and not for preservation.

Statement Il : A book used by many users might be damaged, that itself

indicates the popularity of the book.

In the light of the above statements, choose the correct answer from the options
given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement Il are true
Both Statement | and Statement |l are false
Statement | is true but Statement |l is false

Statement | is false but Statement Il is true

Options :

920906105117. 1
920906105118. 2
920906105119. 3
920906105120. 4

Question Number : 80 Question Id : 92090626603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ja A Py MU E:

YA

HUYF Il : P STANTHAH GRT UGN H @15 15 J&iP Ed gl Tdbdl ¢ ol fdb w@d gl

QX &1 Bifd & fawg § Fard! 81

JIWiad HYA & 3faid |, Ald feu v fdsedi 1 | 9gl 3 &1 994 Sifoilw

(1)
(2)
(3)
(4)

U1 3R I T IA R

HYT | R 11 I A

FYF | A 5, Afch- YA || 38 &
HYF | 3T g, A HYF 11 TT 8

Options :
920906105117. 1
920906105118. 2



920906105119. 3
920906105120. 4

Question Number : 81 Question Id : 92090626604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Preprints are primary source of information.

Statement Il : Preprints become obsolete after their publication in the Journal.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4 Statement | is false but Statement Il is true

Options :

920906105121. 1
920906105122. 2
920906105123. 3
920906105124. 4

Question Number : 81 Question Id : 92090626604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H S Py fqu MU B

Py

| Wiftle a1 & urdfie 9id 8|

HYF || - GRS # UHRHA & IRid f-fife srogrt 8 o g
JIWIad YA & 3aid J, A1 feu 0 A adi § 9 el I &1 984 Sifoe

(1
(2
(3

)
)
)
(4)

YT IR 1 AT IA
YA | R 1| 1 AT 8
FY | 9 &, Afd FYT 11 ST &
HYT | A 6, AP DU 11 FA &

Options :

920906105121. 1
920906105122. 2
920906105123. 3
920906105124. 4

Question Number : 82 Question Id : 92090626605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Internet is safer since there is less chance of external hacking as

compared to Intranet.

Statement [l : Intranet is available in public domain.

In the light of the above statements, choose the correct answer from the options

given below :

(1)
)
(3)
(4)

Both Statement | and Statement Il are true
Both Statement | and Statement |l are false
Statement | is true but Statement Il is false

Statement | is false but Statement Il is true

Options :

920906105125. 1
920906105126. 2
920906105127. 3
920906105128. 4



Question Number : 82 Question Id : 92090626605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAFERTME:

®YF | : F2MHC B gal | FeAe dedl g & e sifte wRigd 2
YA || : $eHC Ul SIHA H IUas g |

TURIH HYA & Tl H, 919 U T 9l 7 § 9el IR &1 9094 Sifon
(1) SRS T 8

(2) YA 3R 1 S §

(3) ®YT A g, AlHT HYF 1| A

(4) HYTI MY B, A YA 11 TA

Options :

920906105125. 1

920906105126. 2

920906105127. 3
920906105128. 4

Question Number : 83 Question Id : 92090626606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Web has become a hub for large number of activities of library
users.
Statement Il : Web is used as a popular publishing media.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement 1l is false

(4) Statement | is false but Statement Il is true



Options :

920906105129. 1
920906105130. 2
920906105131. 3
920906105132. 4

Question Number : 83 Question Id : 92090626606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Ay RTTUR:

YT | GPIad TSI & ol 39 U UgE 5 9 T 8
®YA |1 - dd BT WNT U Albitd YbTH HIH & a1 8 |

IR FYA & 3Tl A, I AU U f[asedl # 9 Wl IR $1 904 Hifoie

(1) S IRITA TR
(2)  HYT ISR 1 T A B
(3) HYTI9I G, Afh FYF 1l A §
(4) HYTIHI e, AfFIHYT I TIE

Options :

920906105129. 1
920906105130. 2
920906105131. 3
920906105132. 4

Question Number : 84 Question Id : 92090626607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Information is that property of data that represents and measurer
effects of processing of them.

Statement Il : Processing includes data transfer, selection, structuring, reduction
and conceptualization.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

Options :

920906105133. 1

920906105134. 2

920906105135. 3
920906105136. 4

Question Number : 84 Question Id : 92090626607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR APy RTME:
HY | - G, 3¢ D1 98 Uad & ol IS Ul &1 ueRia ud A g1
HYA |1 Uleha1 F ST RIFTFIRUN 904, WA, YRILH01 Ud SfaeRum wiifed g1
IR FYF & 3fcils A, 714 AU 10 Al # 9 9gl IW $1 904 Hifore

) BYT ISR AT FA R

) YA SR S T §

) @Y IF g, A HYF 1| T §
) ®Y | A g, Aled HUF 1| T &

(1
(2
(3
(4
Options :
920906105133. 1

920906105134. 2
920906105135. 3



920906105136. 4

Question Number : 85 Question Id : 92090626608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : Majority of the dictionaries are providing meaning pronunciation
and synonyms etc. of the word.

Statement Il : All dictionaries give information on Antonyms, synonyms and
homonyms.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement |l is true

Options :

920906105137. 1
920906105138. 2
920906105139. 3
920906105140. 4

Question Number : 85 Question Id : 92090626608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR e
HU |

HYUA I

HyA T M &:
- AfiHTY Uegb Ty 31, a1 vd wauarEt &1 UeH #3d g
- gt T fadH Ui, vaidiae Ud 9e5aey eal & UaH &3d g |

IWad HY & 3faid |, Al fSu v faswedi § § 9l IO &1 994 Sifow

(1)
(2)
(3)
(4)

FYF | AR A TA
HU | 3R 11 ST 3 §
HYF | T ©, At Y || A &
HYF | A §, Afb FYF 11 T &

Options :

920906105137. 1
920906105138. 2
920906105139. 3
920906105140. 4

Question
Question

Number : 86 Question Id : 92090626609 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Loose Assemblage is the process of linking together different
classes.

Statement Il : Loose Assemblage was earlier known as subject bundle.

In the light of the above statements, choose the correct answer from the options

given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906105141. 1
920906105142. 2
920906105143. 3



920906105144. 4

Question Number : 86 Question Id : 92090626609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HERTME:

®YA | - faft 37l o1 Sisa B uihar 1 faERT W $8d ¢

HYA || : o U HaoH &1 yd | fawd 9Hg Sl Srar ol

IURIE HYA & 3feils A, HId 3T MU fadbeul # ¥ ¥gl IR &1 944 Sifere

(1) HEHISNRNIFT IS

2)  HYFIHR A ET '

(3) ®YF|Fd g, Althd YA |l 3EA &
) HYTIMI e, APAFYT I T ®

Options :

920906105141. 1
920906105142. 2
920906105143. 3
920906105144. 4

Question Number : 87 Question Id : 92090626610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of these is not an input device:

A Printer
B Plotters
C Mouse
D. OCR

E; Joy stick

Choose the correct answer from the options given below :

(1) AandBonly
(2) BandConly
(3) AandDonly
(4) BandEonly

Options :

920906105145. 1
920906105146. 2
920906105147. 3
920906105148. 4

Question Number : 87 Question Id : 92090626610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & $1H |1 399 IUD el o |

A U

B. WY

C. WY

D. SR
E. Wt fes

4 fau U fasedi § 9 Hel IR &1 994 Sifo

(1) PAdASREB

2) ®HgaAB3RC

3) HAAASRD

4) HAABIARE
Options :

920906105145. 1
920906105146. 2
920906105147. 3
920906105148. 4

Question Number : 88 Question Id : 92090626611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the Neo-Conventional category of documentary source according to
Dr. SR Ranganathan.

A Books

B Standard
3 Maps

D. Patents
E.

Periodicals

Choose the correct answer from the options given below :

(1) A and C only
(2) B and D only
(3) DandEonly
(4) C and D only

Options :

920906105149. 1
920906105150. 2
920906105151. 3
920906105152. 4

Question Number : 88 Question Id : 92090626611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 ¥ 3R WHIYA & SER -2 4t & weivad il &1 fafga sifere

A JEd

B. WH®

C. T

D. U

E. WIS YhTeH

At fou e fasedi # | ¥dl I &1 99 Bifoe :

(1) HIATA3MRC

2) HaAB3ARD

3) ®HIADIARE

4) HIACIRD
Options :

920906105149. 1
920906105150. 2
920906105151. 3
920906105152. 4

Question Number : 89 Question Id : 92090626612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the functions of National Library generally?

A Produce a national bibliography.

B. Library Act enactment.

C. Hold the responsibility of Library consortia of country.
D.

Compile union catalogue.

Choose the correct answer from the options given below :

(1) A and D only
(2) C and D only
(3) B and C only
(4) A and C only

Options :

920906105153. 1
920906105154. 2
920906105155. 3
920906105156. 4

Question Number : 89 Question Id : 92090626612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P YT P WA BT T 8:
A VR IHTE! HT USRI
B. Ukddray fufay uifvd &3
C. Yooy Haifcad o S Tl gawi Al
D. g UGl &1 A S

4t fou 7o fasedi A 9 9Et I &1 999 Hifere -

(1) HadAARD
(2) ®AACSRD
(3) @adBSRC
4) HAAAARC

Options :



920906105153. 1
920906105154. 2
920906105155. 3
920906105156. 4

Question Number : 90 Question Id : 92090626613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following was started by ILA?

A Library Bulletin
B SSDC
& ISDS

D Abgila

Choose the correct answer from the options given below :

(1) A and D only
(2) A and C only
(3) B and C only
(4) B and D only

Options :

920906105157. 1
920906105158. 2
920906105159. 3
920906105160. 4

Question Number : 90 Question Id : 92090626613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 UA U gRI 9 § 9 fraes! U s man une

A sl gafed
B. THTHEH
C. IETEiuy
D. UdRTal
At fau e fasadi A § U8l IR &1 994 Sifell -
(1) HadA3MRD
() FAAASMRC
(3) ®HaAB3ARC
(4) HAAB 3R D
Options :

920906105157. 1
920906105158. 2
920906105159. 3
920906105160. 4

Question Number : 91 Question Id : 92090626614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the factors for designing a library building by Ellsworth?

A Historical precedents.

B The size of library collections

C Standards set by ISO

D. The librarian’s ability and freedom
E,

Estimation of Annual Growth rate

Choose the correct answer from the options given below :

(1) A, B and D only
(2) B, C and D only
(3)  A,BandConly
(4) C DandEonly
Options :
920906105161. 1
920906105162. 2

920906105163. 3
920906105164. 4

Question Number : 91 Question Id : 92090626614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UferaYd & SUR GEIPIe Ha 31 FIoHI & DI A RS o7
A, Ufdeile geand

B. UG UUE Bl fHR

C. M3 UH 3 gRI WIfid AF®

D. dift® gig & IHM Ud YEAPTaaIds & g

i fou e faded] § | Hel I &1 994 Siforg :

(1) HadA B3RD
(2) HgAB, C3RD
(3) HAAA B3RC
4) HAAC, DIRE



Options :

920906105161. 1
920906105162. 2
920906105163. 3
920906105164. 4

Question Number : 92 Question Id : 92090626615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the functions of university library given by Wilson and Tauber?

Conservation of knowledge and ideas.

B. Promotion / Stimulation of Reading.
C, Teaching
D. Extension and service

Choose the correct answer from the options given below :

)] B, C and D only
(2) A, BandD only
(3) A CandDonly
(4) Band Conly

Options :

920906105165. 1
920906105166. 2
920906105167. 3
920906105168. 4

Question Number : 92 Question Id : 92090626615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fe g Ud elar & SUR fayfaerey qasrad & 314 4 1 82

A M U4 ORI &1 e
B. U ufafd &1 yER
c. Tyusnd
D.  WHR U4 ¥aqmd
4= feu v fasredl & 9 e IR &1 99 Sifoe ;
(1) ®ddaB,C3RD
2) ®ddA B3MRD
(3) HAAA C3RD
4) FaaBRC
Options :

920906105165. 1
920906105166. 2
920906105167. 3
920906105168. 4

Question Number : 93 Question Id : 92090626616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A subject catalogue is one which shows documents on a specific subject possessed by a
given Library. There are the various types of subject catalogue

A Alphabetic — Direct Catalogue

B. Classified — Direct Catalogue

- Alphabetic — Classed Catalogue
D.

Classified — Indirect Catalogue

Choose the correct answer from the options given below :

(n A and D only
(2) AandConly
(3) A, C and D only
(4) A and B only

Options :
920906105169. 1



920906105170. 2
920906105171. 3
920906105172. 4

Question Number : 93 Question Id : 92090626616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Qadrad o foadt AR favg © Iudas qas! & favg g grr vefRia i 9 g1
favy ugEt & i UeR & W g

A Udhldicd — ST dednl
B. RIPBIIS - SARE Han
C. UplElcd — NG beall
D. FAAIBIES - TS Heal

i fou e fased] 7 I 98l I &1 99 Sifolg -

(1) FHAAASRD

2) HIAAIRC

(3) PAAA, C3RD

4) PHAdA 3B
Options :

920906105169. 1
920906105170. 2
920906105171. 3
920906105172. 4

Question Number : 94 Question Id : 92090626617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l :

List I (Management Functions) List Il (Description)

(A) Job Analysis ()  Describe job with regard to educational
qualification, skills, experience etc.

(B) Job Rotation (I)  Minimum acceptable human qualities
necessary to perform a job properly

(C) Job specification () Movement of the employee from one Job
to another Job

(D) Job Description (IV) Studying and collecting information related to
operations and responsibilities of job.

Choose the correct answer from the options given below:

) (A=, (B)-(I), (C)-(IV), (D)-(1)
) (A, (B)-(1), (C)-(IV), (D)-(11)
) (A=), (B)-(1), (C)-(1), (D)-(1V)
) (A)-(V), (B)-(lI1), (©)-(11), (D)-(1)

(1
(2
(3
(4

Options :

920906105173. 1
920906105174. 2
920906105175. 3
920906105176. 4

Question Number : 94 Question Id : 92090626617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & A1y gt 11 @ e Pifoe

gdl-| a1l
PR IGERL|
(A) BT fawaeor () Qe drgarsit, 1on, srHal & SUR
TR 1 &1 faawor &
(B) I B () & o & SiRd $A & A
AT faRiwarsil &1 sraegs gl
(C) &1 fafanfieo (1) TS B Y AP F U HHART B
YA ST
(D) & [ (Iv) SR Y H&iAd yaeH Ud ga-1 &1 998
Ud U0 A1

12 feu v faedi # 9 981 IR &1 994 ST

(M (A, (B)-(), (CQ)-(IV), (D)-(1)
(2)  (A)-(), (B)-(1N), (©)-(1V), (D)-(IN)
(3)  (A)-(1, (B)-(I), (C)-(1), (D)-(IV)
) (A)-(V), (B)-(l), (©)-(1), (D)-(1)

Options :

920906105173. 1
920906105174. 2
920906105175. 3
920906105176. 4

Question Number : 95 Question Id : 92090626618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Person) List Il (Concept)
(A) Daniel Bell ()  Post-Industrial society
(B) Peter Drucker (1) Information Theory
(C) Fritz Machlup (Il  Knowledge worker
(D) Claud Shannon (IV) Knowledge Industry

Choose the correct answer from the options given below:

(1) A=), (B)-(1V), (C)-(llN). (D)-(I1)
(2) (A, (B)-(), (C)-(1), (D)-(IV)
(3)  (A)-(n), (B)-(N), (CO)-(1V), (D)-(I1)
(4)  (A)-(1), (B)-(11), (O)-(1V), (D)-(11)

Options :

920906105177. 1
920906105178. 2
920906105179. 3
920906105180. 4

Question Number : 95 Question Id : 92090626618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | & 91y gl 1 1 fIaE Sifee

- G-I

(cafer) (3/@YRUN)
) SFmasd () 9y-3fEfies A
(B) Uler ga () YA qYURON
(C) WieH dded () I HHARI
(D) s T (V) I eI

19 feu e faeedl § 9 9l IO &1 994 Sifeie:

(1) A-), (B)-(V), (C)-(l), (D)-(1)
(2 (A)-(m), (B)-(), (-1, (D)-(1V)
() (A)-(m), (B)-(N), ()-(V), (D)-(I1)
@) (A)-), (B)-(), (©)-(1V), (D)-(I1)

Options :

920906105177. 1
920906105178. 2
920906105179. 3
920906105180. 4

Question Number : 96 Question Id : 92090626619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct order of SDI process

A. Notification
B Profile Creation
2 Matching

D. Feedback

E. Modification

Choose the correct answer from the options given below :

(1) B, C, A, Eand D only
(2) A, B, C, Dand E only
(3) B.C. A, D and E only
(4) ED,C BandAonly
Options :
920906105181. 1
920906105182. 2

920906105183. 3
920906105184. 4

Question Number : 96 Question Id : 92090626619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 3118 ufeha & Wl A & Rafd Sifs|

A ARSI
B. WIGIgd S
c. MR
D. Wigdd

E.  HiSiihdIA

4 fau U fased] § 9 Hel IR &1 994 Hifor ;

(1) ®adaB,C A EJRD
(2) HddA,B C DIIRE
(3) ®ddB,C A DIIRE
(4) AAE D,C, B3RA

Options :

920906105181. 1
920906105182. 2
920906105183. 3
920906105184. 4

Question Number : 97 Question Id : 92090626620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List |l :

List | (Programming Language) List Il (Year)
(A) FORTRAN () 1957
(B) COBOL (1 1970
(C) PASCAL (y 1972
B} € (IvV) 1959

Choose the correct answer from the options given below:

(1
(
(3
(4

) (A)-(), (B)-(1), (C)-(IN), (D)-(IV)
) (A)-(), (B)-(1V), (C)-(1), (D)-(11)
)
)

ol

(A)-(1), (B)-(1V), (C)-(l1), (D)-(111)
(A)-(1V), (B)-(1), (C)-(in1), (D)-(1)

Options :

920906105185. 1
920906105186. 2
920906105187. 3
920906105188. 4

Question Number : 97 Question Id : 92090626620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l a1l

WO YT ay

(A) RSHA () 1957
(B) hIdld () 1970
(C) UrEEd (ny 1972
(D) & (IV) 1959

e fou v faeedl § 9 9l 3T &1 994 Sifeie:

(M A-0, B)-(1), (©)-(11), (D)-(IV)
(2)  (A)-(). (B)-(IV), (C)-(ln), (D)-(11)
(3)  (A)-(), (B)-(IV), (C)-(1), (D)-(11)
(4)  (A)-(V), (B)-(11), (C)-(1), (D)-(1)

Options :

920906105185. 1
920906105186. 2
920906105187. 3
920906105188. 4

Question Number : 98 Question Id : 92090626621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List I (Terms) List Il (Definitions)
(A) Dictionary () A book of specialized terms
(B) Glossary () Etymology and meaning of words
(C) Thesaurus (Il Vocabulary of a language
(D) Lexicon (IV) A book of words and their synonyms

Choose the correct answer from the options given below:

(1 (A-(V), (B)-(1), (C)-(1), (D)-(1)
2)  (A-(1), (B)-(IV), (C)-(), (D)-(11)

(3)  (A)-(), (B)-(1), (C)-(1V), (D)-(11)
@) (A=), (B)-(11), (O)-(1y, (D)-(IV)
Options :

920906105189. 1
920906105190. 2
920906105191. 3
920906105192. 4

Question Number : 98 Question Id : 92090626621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | & 91y gl 1 1 faaE Sifee

Tl (W) G-I (gRHTTY)
(A) UHIY () foy Srec] bl g
(B) TAIGII () Wsai & Y Ud WAl
(€ fiEs (1) HTeT & fafi we

(D) TaHi®IA (V) Teg! Ud 39 yaman=ay

1< fu e fasedi # 9 9l I &1 994 Sifet:

(1) (A)-(V), (B)-(1), (C)-(11), (D)-(1)

@ (A)-(), (B)-(1V), (C)-(1). (D)-(11)

(3) (A1), (B)-(1), (C)-(1V). (D)-(1)

@ (A-0). (B)-(), (O)-(m), (D)-(V)
Options :

920906105189. 1
920906105190. 2
920906105191. 3
920906105192. 4

Question Number : 99 Question Id : 92090626622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List I
(A) Merill's Author table (I)  Assigning subject headings
(B) Ranganathan's chain procedure (ll) Recording details of periodicals
(C) Three-card system (1) Issue-Return method
(D) MNewark charging system (IV) Assigning book number

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(1), (C)-(l), (D)-(11)

(2)  (A)-(1), (B)-(l1), (C)-(IV), (D)-(1)

(3)  (A)-(V), (B)-(I), (C)-(l), (D)-(11)

@) (A)-(). (B)-(1V), (C)-(ln), (D)-(I1)
Options :

920906105193. 1
920906105194. 2
920906105195. 3
920906105196. 4

Question Number : 99 Question Id : 92090626622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & w1y g 1 1 e Fifee

- il
(A ARE@ dEd afcer () g e ueE S
(B) UHIYA &t e ufsbar (1) HHITAS] UHTH Dl G- T HAl
(€ B-vIs a3 () 3MMA-FrfE goret
(D) AdIb HGH-UEH o (V) Y G-l U Bl

19 feu e faeedl § 9 9l IO &1 994 Sifeie:

(1) (A=), (B)-(1), (C)-(I), (D)-(1N)
2 (A=), (B)-(l1), (C)-(1V), (D)-(1)
() (A-0V), (B)-(1), (C)-(I), (D)-(1)
@) (A)-(), (B)-(v), (C)-(l), (D)-(I1)

Options :

920906105193. 1
920906105194. 2
920906105195. 3
920906105196. 4

Question Number : 100 Question Id : 92090626623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Author(s)) List Il (Book(s))
(A) J.H. Shera () Foundations of Education for Librarianship
(B) A.K. Mukherjee (1)  Introduction to Reference work
(C) DJ. Foskett () Librarianship its Philosophy and History
(D) William A. Katz (IV) Information services in Libraries

Choose the correct answer from the options given below:

(1
(2
(3
(4

) (A1), (B)-(I1), (C)-(1V), (D)-(11)
) (A)-(), (B)-(1), (C)-(1). (D)-(IV)
) (A=, (B)-(I), (©)-(1V), (D)-(IN)
) (A, (B)-(1), (C)-(IV), (D)-(11)

Options :

920906105197. 1
920906105198. 2
920906105199. 3
920906105200. 4

Question Number : 100 Question Id : 92090626623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

(A)-(1), (B)-(I1), (C)-(IV), (D)-(I1)
(A)-(11), (B)-(1I), (C)-(1), (D)-(IV)
(A)-(11), (B)-(1). (C)-(1V), (D)-(I1)
(A)-(1), (B)-(11), (C)-(1V), (D)-(11)

Options :

920906105197. 1
920906105198. 2
920906105199. 3
920906105200. 4



